BRHX AR
ik 428-1787

BN k% EBE SEBI K% = = A IEERY
=R | 2ot | a5 | B A & Bz
VINL— VINL— 1-2-3-4 X BE|19 BF 00 9 ~ 21 BF 00 XA 12%& 1% 13%& FEE 1,000 -
B -
ZR—YFrII5 STONFrINSEEE | 1234 B B| 9 B 30 H ~ 11 B 30 SIEBL | 6% | 4% | 10% | 3000F -
FEEMUT
2000M
HIR TIA—=HDHSZATHTHA X FEFZH 13 4 |10 B 00 & ~ 11 B 30 HIPRRL 13% 13% 1[G 500MH WF 3\F
TS990 NIALT7>T5-U— 1-3 4 |13 B 00 & ~ 14 B 30 KA 104 104 B%8 1,500 R HRHEE
I70E9R I70EDR 24 N9 B 10 9 ~ 10 B 10 KA 7% 7% 1[G 1,000 2R B
HEZHIVR FvIHS2H5T 1-2-34 N BE| 9 B 30 9 ~ 12 B 00 HIPRRL 4% 2% 6% B%8 3,000M B AF
(e fRmRE kI 1-2:3-4 4 |19 B 00 % ~ 21 B 00 KA 10% 10% | & | 12,0000 o (=T
(e BENLES LRSS T 2-4 & W|13 B 30 9 ~ 14 B 30 KA 13% 13% | 4 | 14,0008 FIR RAS
=) JHTITSIC 1-3 K BE|13 B 30 & ~ 15 B 00 HIRRL 174 174 B%8 1,000 &S BEF
== BE-IBFH5T 1-3 K BE|13 B 30 & ~ 15 B 30 HIRRL 144 144 %A 16,000M Ry BT
RiE B 123 & |13 B 00 9 ~ 15 B 00 KA 4z | 22 | ez 0m -
= EmEE 2.4 + B|9 B 304 ~ 11 B 30 sERL | 7% 72 | Bm | 2000 Bk @
I3T-TLOSAIN I5D-TLITAINIST 2:-4 JK BE[10 BF 00 99 ~ 12 B 00 KA 144 144 B%8 1,500 IUFIERIAL Y
LY—55Th L= 55N AV =T 2.4 ok W|13 B 30 9 ~ 15 B 30 sEnL | 122 | 38 | 1s& | 8 | 2,000M -
B B 2 & B|10 B 00 % ~ 12 B 00 KA sz | 1 | o= 0m -




